The robotic arm from the previous problem is in the configuration shown below. Assume that theta is
currently 30 degrees and that point C currently lies along the x axis. If we want the end effector at C to travel 1
ft/s in the negative x direction, what should the angular velocities be at joints A and B?

\ .
Bk s

S
>

0) \[C: - l H/Q
@ﬂ Ty 3(coe20t #5430 PH
(* 24 c Assuune PosiTVE
’ B ! —CSA&: (DAgk
sind= 1.51F . .
Qﬂ:;i{;: g 6" \-C/B:Z[COngé Sm‘-{gé B'H‘

—_— O*—’ —
ng:)/,:'\' Wap X T B/A
TC = T()B 4 Wwee X Cele
- UJA@)(('B/A +WVac ch/e

. ) g4g.4/b\-zs,\n4€‘-éjm
2gav J

oo UL + 2w € HE6]

>< O

— | 'C-R/Q[J - B\QABCOSBD\) “'%C}JAQSIVI{))OU'\‘ZU)BC

QP\(‘\' tnko (’OVV\POV\-Q/V\-K
20 4 2 Wpe SNAEE

-\ = -3 UOABQIVI
Wee €O¢ dg b

O = BUJA@,COQZO'\' Z

C > >

wa, 0846
Leow &1 =3 wae 020 * < Wec

= e = —2cosRE wpe <
2 Co&20

n 48 ¢
cobie A —1 = 2 gn20 (~0-C) Wee) + Z W EY

— = 07C Wee * [ Swee =2:26 Wec


iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)


X p = —0-4¢ redl s
(e

- —0.%] wec
- 0.22 roo\/c

n
TWas = 022 m”’/f/

f\:trom\lk\ . Wae



iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)


